Sample Paper - (2025-26)
CLASS: 12th (Sr. Secondary)
HOME SCIENCE

ACADEMIC/OPEN

[Hindi and English Medium] [Time allowed: 2°2 hours] [Maximum Marks: 60]

fa¢2eT / Instructions:
ot weaT a1

All questions are compulsory.

g2l HEAT 1/ 15 dh Tcdeh YT 1 37k FI g
g TEAT 16 22 dh Tcdeh U2 2 ik Al g |
9T HEAT 23 | 29 deh Ycdeh YT 3 31h I g
gesT T&AT 30 3R 31 9rg-9rd 37 & o |
Questions 1 to 15 carry 1 mark each.
Questions 16 to 22 carry 2 marks each.
Questions 23 to 29 carry 3 marks each.
Questions 30 and 31 carry 5 marks each.

Gs-37: TETAhedT T (Fedh T 1 37)

1. | RueT 31fFATe & 3iaea wequar aeh arforerr faearert 7 o Rfard e srar g2
(a) @Y STt Y
(b) ST TSTeRaT Tictepel TRTEATIT # el &
(c) Tefr st 3R diet
(d) 6 @Y Tk o el @l

Under the Sarva Shiksha Abhiyan, who is educated in Kasturba Gandhi Balika Vidyalayas?
(a) All children
(b) Girls living in adverse conditions
(c) All children and adults
(d) Children up to 6 years

2. W AT RIfRET 3MaRIRATST I QT Fe & fIT AN T 31T TR T 47 g
ST 8?
(a) AT 3R
(b) 3w 3MER



(c) TAMTAT 3MER
(d) RfercdT 3R

What is the diet that is adjusted to meet a patient's medical needs?

(a) Regular diets

(b) Medicinal diets
(c) Modified diets

(d) Therapeutic diets

. gfe arorTaren & et AT o 9T AT H TSI AT [AoIdT &, O ST T ieT-AY AR
&Y Hehd 72

(a) SieTaeT

(b) FATTANRHR

(c) Il

(d) ger

If a mother does not get sufficient iodine during pregnancy, what disease can occur in the child?

(a) Cretinism

(b) Kwashiorkor
(c) Night blindness
(d) Goitre

4. oS II9TX SdRT G ol WeeT g1 & Felel & T fehar wfsha ar fashrar feham aram ar?

(a) TAeTelaoT
(b) dTR=RISHIOT
(c) ¥

(d) 33T L&A

Which method was developed by Louis Pasteur to prevent milk from turning sour?

(a) Dehydration

(b) Pasteurization
(c) Food fortification
(d) Cooling

5. Tola=T # @ SiA-H GaT ICDS GaRT YT & SIeil &2

(a) HICHY Tl
(b) fRrer fagr
(c) STeraTst

(d) 3TaTeTarar

Which of the following services is provided by ICDS?

(a) Montessori school
(b) Nursery



(c) Balwadi
(d) Aanganwadi

6. 3UFAr TReToT JfAfATH (COPRA) &e uriRd foham aram am?
(a) 1960 &
(b) 1962 &
(c) 1986 &
(d) 1968 &

When was the Consumer Protection Act (COPRA) passed?
(@) In 1960
(b) In 1962
(c) In 1986
(d) In 1968

Objective Questions (1 mark each)

7. S.0.S mmﬁa@rwmmah—q'gé?
When was the SOS Children’s Village established?

8. G Be] URRETHI & oA1H faf@u|

Name any two household preservatives.

9. pIsay UToIHeRIT TN FT TS hdl gIT?

When was the Codex Alimentarius Cosmmission established?

10 o A A & FHAT dTiehar T Fraer el 31

In............ there is a parking facility near the rooms.

M. T HagdaAsAagagH RATadg ... Fgdrdr ol

The short-lived fashion style is called .........

12 e IS o STRT BIC STl Sl Thol H 2o $sfel fer Sire g

Through ......... scheme, children are given free meals at school.

92T 13 / Question 13 (1 37% / 1 Mark)

A faT T oY HUAT FY IfRBUA (A) TUT FROT (R) F &7 7 3ifha forar arar g -

TRFY (A): FBR F ITAEA T FAT ¥ W IS () ATHP AT & ST & | STH ARRIITS
T ot ST & i AR TREeT gl A AT 7 Frfad giar g

HIOT (R): ITe1ers 9T F&731 3R Tsfhat & 31f8e giar g1

The two statements are given below, marked as Assertion (A) and Reason (R):
Assertion (A): Lack of iodine in the diet causes Goitre. In this condition, the thyroid gland



swells because thyroxine hormone is secreted in a lesser quantity.
Reason (R): Goitre disease occurs more in women and girls.

FdiTtieh 3ugerd fdshed YiT / Choose the most appropriate option:

(a) afﬁw:r( )31’1TEHTUT(R gl Ter § 3R ROT (R), 31fRsT (A) Y TEY csarear B
Both Assertion A and Reason R are frue, and R is the correct explanation of A.

(b) 31U (A) 3R FROT (R) aeit &Y & et ROT (R), 31RhT (A) T &Y carear =187 &1
Both Assertion A and Reason R are true, but R is not the correct explanation of A.

(c) ATHFUT (A) FEI ¢ oifehed HROT (R) ITeld &
Assertion (A) is true, but Reason (R) is false.

(d) 3TTAFU (A) TTerd & oifhet SHROT (R) TET &

Assertion (A) is false, but Reason (R) is true.

U2 14 | Question 14 (1 37 / 1 Mark)

SR feT 7T &Y HUAT i ITABUA (A) TUT HROT (R) & T F 3ifhd fFar g -

ITHFYT (A): Teh 3TOT oIecl I8 ¢ N STHIFAT 37 U1 & IR H Tl AT H LT SATABRT Gl
gl

ROT (R): el T HET 36627 &1 SUHIFAT T 38h SaRT WIS ST dTel ge&rd & aR & qoT A7l
CAT &

The two statements are given below, marked as Assertion (A) and Reason (R):

Assertion (A): A good label gives correct information to the consumer about the product in
simple language.

Reason (R): The main purpose of the label is to give the consumer complete knowledge about
the product that he/she is purchasing.

Fditeieh 39gerd fdshed JiT / Choose the most appropriate option:

(a) 3THA (A) 31K HROT (R) g1t T & 3R HROT (R), 31Tt (A) $ T sarean ¥

Both Assertion A and Reason R are true, and R is the correct explanation of A.

(b) 31THFYUT (A) 3R FROT (R) ¥ TT & alfched ROT (R), 31TAFUA (A) Fr TET AT 7787 £
Both Assertion A and Reason R are true, but R is not the correct explanation of A.

(c) 3TTRFUT (A) TET § Jfhed HROT (R) Il &

Assertion (A) is true, but Reason (R) is false.

(d) 31TAFUA (A) T & SIfhet HROT (R) TET &

Assertion (A) is false, but Reason (R) is true.

g2+T 15 / Question 15 (1 37% / 1 Mark)

i feT 97T &F =T i 3TAFUA (A) TUT HROT (R) o ®9 H 3ifohd foham aram g -
3fARYA (A): 38 Rea Teraod 9IS NACO anT fsharfead $r a5 2|
W(R);EWW&HW&W@%F?W



The two statements are given below, marked as Assertion (A) and Reason (R):
Assertion (A): Red Ribbon Express project was implemented by NACO.
Reason (R): The Red Ribbon Express train started from Kanyakumari.

Fditeieh 39gerd fdshed YiT / Choose the most appropriate option:

(a) 3B (A) 3R BT (R) At T ¥ 33 $ROT (R), 3RS (A) BT T carear |

Both Assertion A and Reason R are true, and R is the correct explanation of A.

(b) 31THFYUT (A) 3R FROT (R) ¥ TET & aifched SROT (R), 31TAFUA (A) Fr TET AT 7187 £
Both Assertion A and Reason R are true, but R is not the correct explanation of A.

(c) ITHHUT (A) TET § AfheT HROT (R) Tl & |

Assertion (A) is true, but Reason (R) is false.

(d) 31TRHT (A) ITTd § SfheT FROT (R) TET B

Assertion (A) is false, but Reason (R) is true.

31t ST 3TcH T (Very Short Answer Type Questions)
2 x 7 =14 37% / 14 Marks

16. FATTAIRH T Teh GTared sie ford |

Write a short note on Kwashiorkor.

17. gor$ #ieT & Taffest JepRT &1 gofer HIfTT|

Describe the different types of washing machines.

18. GehTTdehT | SATAITHFE & 3T T HASA &2

What do you understand by Ergonomics?

19. eI & HdeARATe gl & T HRT &2

What are the reasons why elderly people are sensitive?
3ar/ OR

TeTd-fhd TRIY ey & 31T T TASIA 62
What do you understand by Day Care Centres?

20. FHA T Tsh & IR I TN AT fohclet $19Tt H FIHTS TR SATAT 82 3oTeh A1H TS|

Based on the Munsell colour wheel, into how many categories are colours divided?
Name them.

21. RafAT IOYUT Fde YR T glar 82

How many types of Corporate Communication are there?

3yar/ OR

TTHCT A ST o Y 3eTexoT AoV |



Give any two examples of Community Radio.

22. {1 =Tl # RATETRT aeiatr wTech §1 38 Hest 7 38 aF AT Fegdd Fosv st 38 favw
eI giaf|

Reena wants to become a teacher in a preschool. Suggest two educational qualifications
that would help her in this context.

Short Answer Type Questions (g 3T U)
(3 x 7 =21 37% / 21 Marks)

23. 3MER TAfehcar # MR faRITe T & 1fA T glci 82
What is the role of a Dietitian in Diet Therapy?

24. AR & IRIRS TG &7 3oold HTST|

Enumerate traditional occupations of India.
3ar/ OR

theleT Tk | 31T FIT HHSTA 82
What do you understand by the Fashion Cycle?

25. AT Fr AT & F FlA-PT T dTAF A 8?2

What types of feeding routes are used for feeding patients?

26. GII=IT U9 HAR SieA AT st faere dr armdt anfgert Arer Sirar g1 feeaoh fHifsre
Information and Communication Technology is considered the future vehicle of
development. Comment.

3yar/ OR

G ITHAOT I 3T FAT FHSIA & ? Q3GTEIUT GhT TIST AT |

What do you understand by Food Adulteration? Explain with an example.

27. FafAa 3meR 3R TN 3R & A1 AT gar g?

What is the difference between a Regular Diet and a Modified Diet?

28. 3L Yetrel # YT Ao [38meT T fSeAerRat &1 aoie Hifa|

Describe the responsibilities of the Front Office Department in Hospitality Management.

29. AT o1 TSl Al Teh Selforgeh TR WIIGT AT, ST 39 TS & T ¢ | 39 FaY H 39 al
3usiterar AfReaR 3R a1 fFFAeRar faf@u|

Seema purchased an electric iron last month, which has now become faulty. Write any
two of her consumer rights and two responsibilities in this context.



ESSAY TYPE QUESTIONS (faatmcas w2s1)
(5 x 2 =10 375 /10 Marks)
30. qreres fAATOT # 135St & fohet-foret RAgeridl &1 3uNer fanam SiTar 82 9ot RIfST|

Which Principles of Design are used in costume making? Describe.
3yar/ OR

HATTHIRIOT I T FIT HSTA £ 2 [haT Teh HlTeh Teg ol TiaTed Jule Ity |

What do you understand by Standardisation? Briefly explain any one Standard mark.

31. efei@d & @ fordl & 9x digred feouuf faf@r—

Write short notes on any two of the following:

@Iy E&he (Food Hazards)
HACCP
HAlirshiATESH/ Teh T AT (Monochromatic colour scheme)

IDA (Iron Deficiency Anaemia)

CSow»

3yar/ OR

ey FeAfAhr & Hecd I G917 & TIs AT 381 3meIfeieh TN, FALATRT oAb
Afgemsit & Shaet 1 frg SR wenfaa fmm §2

Explain briefly the significance of Food Technology. How has it impacted the lives of
modern housewives, especially working women?
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